

STEVO STEVIĆ

SEQUENCES WHICH SATISFY A LOGARITHMIC
LINEAR INEQUALITY

ABSTRACT: In this note we discuss the boundedness and convergence of a sequence which satisfies the following logarithmic linear inequality

$$a_{n+m} \leq a_{n+m-1}^{k_m} \dots a_n^{k_1},$$

where $k_1 + k_2 + \dots + k_m = 1$. We focus our attention especially to the case $n = 2$. Also we describe a situation where this inequality occurs naturally.

KEY WORDS: sequence, logarithmic linear inequality, boundedness.

1. INTRODUCTION

Real sequences (a_n) that satisfy the linear inequality

$$a_{n+m} \leq \sum_{i=1}^m k_i a_{n+m-i}, \quad n \in N \cup \{0\},$$

where $k_i \in R$ are studied in [2], [4], [5], [7] and [8]. Sequences satisfying nonlinear inequalities or systems of inequalities with some applications has been considered in [1], [9-13]. In [6] Istratescu posed the following question: If (a_n) is a sequence of positive numbers such that

$$(1) \quad a_n \geq a_{n+1}^\alpha a_{n-1}^\alpha, \quad a_0 = 1, \quad \alpha, \beta \geq 0, \quad \alpha + \beta = 1,$$

is then $(a_n^{1/n})$ convergent?

For the case $\alpha = \beta = 1/2$ it follows from McLaurin theorem that the sequence $(a_n^{1/n})$ is nonincreasing and thus convergent. This theorem inspired Istratescu to ask the above question.

It is easy to show that the answer to the question is negative. Indeed, let $a_n = e^{n^2}$ then

$$a_n - a_{n+1}^\alpha a_{n-1}^\beta = e^{n^2} (1 - e^{2n(2\alpha-1)+1}).$$

Hence for $\alpha < 1/2$ and sufficiently large n , for example $n \geq n_0$, we have $a_n - a_{n+1}^\alpha a_{n-1}^\beta > 0$. Thus, the sequence defined by $a_n = e^{(n+n_0)^2 - n_0^2}$ for $n = 0, 1, 2, \dots$

satisfies the inequality (1). On the other hand $\lim_{n \rightarrow \infty} a_n^{1/n} = +\infty$ i.e. the sequence $(a_n^{1/n})$ is not convergent.

Let $\alpha = 0$. Then the sequence (a_n) is nondecreasing and consequently there exists finite or infinite $\lim_{n \rightarrow \infty} a_n = a$. If a is finite then $\lim_{n \rightarrow \infty} a_n^{1/n} = 1$. Let $a = +\infty$, then we can have the following three cases.

1. $\lim_{n \rightarrow \infty} a_n^{1/n} = q$, $q \geq 1$ is finite, for example $a_n = q^n$; $a_n = n$;
2. $\lim_{n \rightarrow \infty} a_n^{1/n} = +\infty$, for example $a_n = n^n$;
3. $\lim_{n \rightarrow \infty} a_n^{1/n}$ does not exist, for example let

$$(b_n) = (\ln a_n) = \left(2, 2, 6, 6, 6, \underbrace{12, 12, \dots, 12}_6, \underbrace{24, 24, \dots, 24}_{12}, \dots \right)$$

then

$$\frac{b_n}{n} = \left(2, 1, 2, \frac{6}{4}, \frac{6}{5}, 2, \frac{12}{7}, \frac{12}{8}, \frac{12}{9}, \frac{12}{10}, \frac{12}{11}, 2, \frac{24}{13}, \frac{24}{14}, \dots, \frac{24}{23}, 2, \dots \right).$$

Hence $\limsup b_n/n = 2$ and $\liminf b_n/n = 1$. From this we have $\limsup a_n/n = e^2$ and $\liminf a_n/n = e$.

Let $\beta = 0$, then the sequence (a_n) is nonincreasing and consequently there exists finite $\lim_{n \rightarrow \infty} a_n = a \geq 0$. If $a > 0$, then $\lim_{n \rightarrow \infty} a_n^{1/n} = 1$. Let $a = 0$, then we can have the following two cases.

1. $\lim_{n \rightarrow \infty} a_n^{1/n} = q$, $q \in [0, 1]$ is finite, for example $a_n = q^n$; $a_n = 1/n$;
 $a_n = 1/n^n$;
2. $\lim_{n \rightarrow \infty} a_n^{1/n}$ does not exist, for example, let

$$(b_n) = (\ln a_n) = \left(-2, -2, -6, -6, -6, \underbrace{-12, \dots, -12}_6, \underbrace{-24, -24, \dots, -24}_{12}, \dots \right)$$

then

$$\frac{b_n}{n} = \left(-2, -1, -2, -\frac{6}{4}, -\frac{6}{5}, -2, -\frac{12}{7}, -\frac{12}{8}, -\frac{12}{9}, -\frac{12}{10}, -\frac{12}{11}, -2, -\frac{24}{13}, \dots \right).$$

Hence $\liminf b_n/n = -2$ and $\limsup b_n/n = -1$. From this we have $\liminf a_n/n = e^{-2}$ and $\limsup a_n/n = e^{-1}$.

One of our goals in this paper is to show that the case $\alpha = \beta = 1/2$ is unique i.e. that in the other cases the situation is similar to the one in the case $\alpha = 0$ or

$\beta = 0$. We shall show it in section 2. Also in section 2 we prove several sufficient criteria for boundedness from above for sequences which satisfy a logarithmic linear inequality.

In what follows we consider the sequences which satisfy the following difference inequality

$$(2) \quad a_{n+1} \leq a_n^\gamma a_{n-1}^{1-\gamma}, \quad \gamma > 0.$$

Note that the inequality (2) follows from (1) by the change $a = 1/\gamma$. Also, note that we may assume $a_0 = 1$, since in the contrary we can consider the sequence $b_n = a_n/a_0$.

In the last section we describe an example of sequences which satisfy in a natural way a logarithmic linear inequality.

2. MAIN RESULTS

THEOREM 1. Let $k_i > 0$ ($i=1, \dots, m$), $k_1 + \dots + k_m = 1$, and let (a_n) be a positive sequence of real numbers which satisfies the inequality

$$(3) \quad a_{n+m} \leq a_{n+m-1}^{k_m} \dots a_n^{k_1}.$$

Then (a_n) is bounded from above.

PROOF. Applying the change $y_n = \ln a_n$ we have that

$$(4) \quad y_{n+m} \leq k_m y_{n+m-1} + \dots + k_1 y_n, \quad n \in N_0.$$

Let (z_n) be a sequence defined by

$$z_n = \max\{y_n, \dots, y_{n+m-1}\} \quad \text{for } n \in N_0.$$

By (4) we $y_{n+m} \leq z_n$, $n \in N_0$ and consequently $z_{n+1} \leq z_n$. Hence the result follows.

THEOREM 2. Let (a_n) be a positive sequence of real numbers which satisfies the inequality (2) for $\gamma \in (0, 2)$. Then (a_n) is bounded from above.

PROOF. If $\gamma \in (0, 1)$, the theorem is a direct consequence of Theorem 1.

Let $\gamma \in (0, 2)$. Applying the change $y_n = \ln a_n$ we have that

$$(5) \quad y_{n+m} \leq \gamma y_n + (1-\gamma)y_{n-1}, \quad n \in N_0.$$

Let us write (5) in the form

$$(6) \quad y_{n+1} - (\gamma - 1)y_n \leq y_n - (\gamma - 1)y_{n-1}.$$

Set

$$(7) \quad c_n = y_{n+1} - (\gamma - 1)y_n.$$

From (6) we have that (c_n) is nonincreasing. Therefore the limit $\lim_{n \rightarrow \infty} c_n$ is finite or $-\infty$.

From (7), we obtain

$$(8) \quad y_n = c_{n-1} + c_{n-2}q + \dots + c_0q^{n-1} + y_0q^n,$$

where $q = \gamma - 1$.

Since (c_n) is bounded from above with c_0 , we have

$$y_n \leq c_0(1 + q + q^2 + \dots + q^{n-1}) + |y_0|q^n < \frac{c_0}{1 - q} + |y_0|q^n < +\infty,$$

as desired.

For $\gamma = 1$ the result is trivial.

One can easily prove the following (see, [8])

LEMMA 1. Let α_i ($i=0, \dots, n-1$) be real, $\sum_{i=0}^{n-1} \alpha_i = 1$, $P_n(z) = z^n - \alpha_{n-1}z^{n-1} - \Lambda - \alpha_0$ and $P_n(q) = 0$ for some $q \in \mathbb{C} \setminus \{1\}$. Then $P_n(z) = (z - q)P_{n-1}(z)$ where $P_{n-1}(z) = z^{n-1} - \beta_{n-2}z^{n-2} - \Lambda - \beta_0$ is such that $\sum_{i=0}^{n-2} \beta_i = 1$.

The following Theorem is a natural generalization of Theorem 2 in the case $\gamma \in (1, 2)$.

THEOREM 3. Let (a_n) be a positive sequence of real numbers which satisfies the inequality (3), such that all zeros of the polynomial $P_m(z) = z^m - k_m z^{m-1} - \Lambda - k_1$, which are different from 1 belong to the interval $(0, 1)$ and if $z = 1$ is a zero of $P_m(z)$ it is simple. Then (a_n) is bounded from above.

PROOF. We will prove this theorem by induction. If $m = 2$ and $z = 1$ is a zero of $P_2(z)$, our statement is a consequence of Theorem 2. Let $p, q \in (0, 1)$ are zeros of $P_2(z)$. Thus, applying the change $y_n = \ln a_n$ we obtain

$$y_{n+1} - qy_n \leq p(y_n - qy_{n-1}), \quad n \in \mathbb{N}.$$

Let $d_n = y_n - qy_{n-1}$ and $d_{n+1} - pd_n = c_n$. Then we have

$$d_n = c_{n-1} + c_{n-2}p + \Lambda + c_0p^{n-1} + y_0p^n, \quad n \in N.$$

Since $c_n \leq 0$ and $p \in (0,1)$ we obtain $d_n \leq |y_0|$ and consequently

$$y_n - qy_{n-1} \leq |y_0|, \quad n \in N.$$

Now we can finish the proof in this case as in Theorem 2.

Let $m > 2$ and $z = 1$ be a zero of $P_m(z)$. Applying the change $y_n = \ln a_n$ we have that

$$y_{n+m} \leq k_m y_{n+m-1} + \Lambda k_1 y_n, \quad n \in N_0.$$

Let $q, q \neq 1$ be a zero of $P_m(z)$ and $z_n = y_{n+1} - qy_n$. Then

$$z_{n+m-1} \leq \sum_{i=0}^{m-2} \beta_i z_{n+i},$$

where $\beta_i = 0, \dots, m-2$, are coefficients of the polynomial $P_{m-1}(z)$ from the Lemma 1. Since $\sum_{i=0}^{m-2} \beta_i = 1$, by the inductive hypothesis we have that the sequence (z_n) is bounded from above i.e. there exists $M \in R$ such that

$$y_{n+1} - qy_n \leq M, \quad n \in N.$$

Now we finish the proof as in Theorem 2.

When $z = 1$ is not zero of $P_m(z)$ the proof is similar and we omit it.

The following interesting theorem which is closely related to Theorem 3 was established in [3].

THEOREM A. Consider the difference equation $a_{n+1} = g(a_n)f(a_{n-1})$, $n \in N \cup \{0\}$ with nonnegative initial conditions where the functions f and g satisfy the following hypotheses:

- $f \in C([0, \infty), (0, \infty))$, $g \in C([0, \infty), [0, \infty])$;
- g is increasing and f is nonincreasing;
- The function $G(x) = f(x)g(x)$, has the property that there exist points $\bar{x}_0, \bar{x}_1, \dots, \bar{x}_m$ such that $0 \leq \bar{x}_0 < \bar{x}_1 < \Lambda < \bar{x}_m < \infty$ and such that for each $i = 0, \dots, m$, $G(\bar{x}_i) = \bar{x}_i$ and $G(x) \neq x$ for $x \in (\bar{x}_i, \bar{x}_{i+1})$;
- There exist numbers $L, p, q \in [0, \infty)$ and $A, B \in (0, \infty)$ such that

$$g(x) \leq Ax^p \quad \text{and} \quad f(x) \leq \frac{B}{x^q} \quad \text{for } x \geq L,$$

where either $p = 0$ or $0 < p^2 < 4q$.

Then every solution of given equation is bounded from above by a positive constant.

It is an interesting question whether the condition $f \in C([0, \infty), (0, \infty))$, can be replaced by $f \in C((0, \infty), (0, \infty))$?

Let us consider the following difference inequality

$$a_{n+2} \leq a_n^{-r^2}, \quad n \in N.$$

Let $a_{2n} = c_n$, then we have $c_{n+1} \leq c_n^{-r^2}$, $n \in N$. It is easy to see that the sequence

$$(c_n) = \left(e, e^{-1/r^4}, e^{1/r^2}, e^{-1/r^6}, e^{1/r^4}, e^{-1/r^8}, e^{1/r^6}, e^{-1/r^{10}}, \dots \right),$$

satisfies the last inequality and is unbounded.

Hence this example shows that the condition $f \in C([0, \infty), (0, \infty))$, can not be replaced by $f \in C((0, \infty), (0, \infty))$.

The following theorem is the main result in this paper.

THEOREM 4. Let $\gamma \in (0, 1) \cup (1, 2)$. Then

- (a) there are positive sequence (a_n) which satisfy the inequality (2) and such that $\lim_{n \rightarrow \infty} a_n^{1/n}$ exists and its finite;
- (b) there are positive sequence (a_n) which satisfy the inequality (2) such that the sequence $(a_n^{1/n})$ is bounded and divergent.

PROOF. Applying the change $y_n = \ln a_n$ we obtain (5) and consequently (6). Set $c_n = y_{n+1} - (\gamma - 1)y_n$. From (6) we have that (c_n) is nonincreasing, therefore $\lim_{n \rightarrow \infty} c_n$ is finite or $-\infty$.

Let $\lim_{n \rightarrow \infty} c_n = c > -\infty$. From (6), we obtain

$$(9) \quad \begin{aligned} y_n &= c_{n-1} + c_{n-2}q + \Lambda + c_0q^{n-1} + y_0q^n = \\ &= c(1 + q + q^2 + \Lambda + q^{n-1}) + d_{n-1} + d_{n-2}q + \Lambda + d_0q^{n-1} + y_0q^n, \end{aligned}$$

where $q = \gamma - 1$.

Since $\lim_{n \rightarrow \infty} d_n = 0$ and $0 < |q| < 1$, clearly

$$\lim_{n \rightarrow \infty} (d_{n-1} + d_{n-2}q + \Lambda + d_0q^{n-1} + y_0q^n) = 0.$$

Thus we have

$$\lim_{n \rightarrow \infty} y_n = \frac{c}{1-q}$$

and consequently

$$\lim_{n \rightarrow \infty} a_n^{1/n} = \lim_{n \rightarrow \infty} e^{y_n/n} = 1.$$

The sequence $a_n = \exp(c \frac{(r-1)^n - 1}{r})$, $n \in N$, is an example of such a situation.

Let $\lim_{n \rightarrow \infty} c_n = -\infty$, $|q| \in (0, 1)$. Set $q = 1/r$. It is clear that $|r| > 1$. We can write (8) in the form

$$y_n = \frac{y_0 + c_0 r + \dots + c_{n-2} r^{n-1} + c_{n-1} r^n}{r^n}.$$

We may suppose that $c_n < 0$, $n \in N_0$. Let

$$(c_n) = \left(-3, -3, -6, -6 - 6, \underbrace{-12, -12, \dots, -12}_6, \underbrace{-24, -24, \dots, -24}_{12}, \dots \right).$$

Let us show that $\lim_{n \rightarrow \infty} y_n/n$ does not exist. From this we immediately obtain that $\lim_{n \rightarrow \infty} a_n^{1/n}$ does not exist, as desired. For the sake of simplicity we shall consider $\lim_{n \rightarrow \infty} -y_n/n$. Also we may assume $y_0 = 0$.

First, let us calculate $\lim_{n \rightarrow \infty} -y_{3 \cdot 2^{k-1}} / 3 \cdot 2^{k-1} r^{3 \cdot 2^{k-1}}$. Note that

$$\begin{aligned} -y_{3 \cdot 2^{k-1}} r^{3 \cdot 2^{k-1}} &= 3(r + r^2) + 3 \cdot 2(r^3 + r^4 + r^5) + \dots + \\ &\quad + 3 \cdot 2^{k-1}(r^{3 \cdot 2^{k-2}} + \dots + r^{3 \cdot 2^{k-2} - 1}) + 3 \cdot 2^k r^{3 \cdot 2^{k-1}} = \\ &= 3r \frac{r^2 - 1}{r - 1} + 3 \cdot 2r^3 \frac{r^3 - 1}{r - 1} + \dots + 3 \cdot 2^{k-1} r^{3 \cdot 2^{k-2}} \frac{r^{3 \cdot 2^{k-2}} - 1}{r - 1} + 3 \cdot 2^k r^{3 \cdot 2^{k-1}} = \\ &= \frac{3 \cdot 2^{k-1} r^{3 \cdot 2^{k-1}} (2r - 1) - (3r + 3r^3 + 3 \cdot 2r^6 + \dots + 3 \cdot 2^{k-2} r^{3 \cdot 2^{k-2}})}{r - 1}. \end{aligned}$$

Thus we have

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{-y_{3 \cdot 2^{k-1}}}{3 \cdot 2^{k-1}} &= \frac{2r - 1}{r - 1} - \lim_{k \rightarrow \infty} \frac{3r + 3r^3 + 3 \cdot 2r^6 + \dots + 3 \cdot 2^{k-2} r^{3 \cdot 2^{k-2}}}{3 \cdot 2^{k-1} r^{3 \cdot 2^{k-1}} (r - 1)} = \\ &= \frac{2r - 1}{r - 1} - \frac{1}{r - 1} \lim_{k \rightarrow \infty} \frac{3 \cdot 2^{k-2} r^{3 \cdot 2^{k-2}}}{3 \cdot 2^{k-1} r^{3 \cdot 2^{k-1}} - 3 \cdot 2^{k-2} r^{3 \cdot 2^{k-2}}} = \frac{2r - 1}{r - 1}. \end{aligned}$$

On the other hand

$$\begin{aligned} \frac{-y_{3 \cdot 2^{k-1} + 1}}{3 \cdot 2^{k-1} + 1} &= -\frac{y_{3 \cdot 2^{k-1}}}{2 \cdot 2^{k-1} r} \cdot \frac{3 \cdot 2^{k-1}}{3 \cdot 2^{k-1} + 1} + \frac{3 \cdot 2^k}{(3 \cdot 2^{k-1} + 1)} \rightarrow \\ &\rightarrow \frac{2r^2 - 1}{r(r - 1)}, \text{ as } k \rightarrow \infty. \end{aligned}$$

Since

$$\frac{2r^2 - 1}{r(r - 1)} \neq \frac{2r - 1}{r - 1}, \text{ for } r \neq 1,$$

we have that $\lim_{n \rightarrow \infty} \frac{y_n}{n}$ does not exist.

REMARK 1. Note that by Theorem 1 every sequence (a_n) in Theorem 4 must be bounded.

For readers who are interesting in this area we offer the following conjecture.

CONJECTURE 1. Let (a_n) be a positive sequence of real numbers which satisfy the inequality (2) for $\gamma > 2$. Then each of the following three cases is possible:

- (a) there exists finite $\lim_{n \rightarrow \infty} a_n^{1/n}$;
- (b) $\lim_{n \rightarrow \infty} a_n^{1/n} = +\infty$;
- (c) the sequence $(a_n^{1/n})$ is bounded and divergent.

In fact, from all above mentioned we only need to show that there is a sequence (a_n) which satisfy (2) for $\gamma > 2$, such that the sequence $(a_n^{1/n})$ is bounded and divergent.

3. APPLICATIONS

In this section we describe a situation of sequences which satisfy inequality (2) in a natural way. Let T denote a linear continuous mapping from the Hilbert space H into itself.

DEFINITION 1. An operator T is said to be of class (N, l, k) if for all $x \in H$, $\|x\| = 1$ we have the following inequality

$$\|T^l x\| \geq \|Tx\|^k.$$

For $k = l = 2$ this is called class N .

DEFINITION 2. An operator T defined on Banach space X , is called of class (c) if for each $x \in X$ the sequence $(\|T^n x\|^{1/n})_{n \in \mathbb{N}}$ is convergent.

The following theorem was established in [6].

THEOREM B. Every operator of class (N) is of class (c).

The author poses the following question: is the class (c) larger than class (N) ? In order to answer this question he notes that if T, S are operators of the class (N)

and $TS = ST$ then it is known that TS is not necessarily of class (N) . We may suppose that $\|T\| \leq 1$ and $\|S\| \leq 1$. Further, we have

$$\begin{aligned} \|(TS)^2 x\| &= \left\| T^2 \left(\frac{S^2 x}{\|S^2 x\|} \right) \right\| \|S^2 x\| \geq \left\| T \left(\frac{S^2 x}{\|S^2 x\|} \right) \right\|^2 \|S^2 x\| = \\ &= \left\| S^2 \left(\frac{T x}{\|T x\|} \right) \right\|^2 \frac{\|T x\|^2}{\|S^2 x\|} \geq \frac{\|TSx\|^4}{\|S^2 x\| \|T x\|^2}, \end{aligned}$$

for all $x \in X$, $\|x\| = 1$. This implies that TS is of the class $(N, 2, 4)$.

Let $T_1 = TS$, then

$$\begin{aligned} \|T_1^{n+1} x\| &= \left\| T_1^2 \left(\frac{T_1^{n-1} x}{\|T_1^{n-1} x\|} \right) \right\| \|T_1^{n-1} x\| \geq \left\| T_1 \left(\frac{T_1^{n-1} x}{\|T_1^{n-1} x\|} \right) \right\|^2 \|T_1^{n-1} x\| = \\ &= \frac{\|T_1^n x\|^4}{\|T_1^{n-1} x\|^3} \end{aligned}$$

i.e.

$$(10) \quad \|T_1^{n+1} x\| \cdot \|T_1^{n-1} x\|^3 \geq \|T_1^n x\|^4.$$

Let $a_n = 1/\|T_1^n x\|$, then we can write (10) in the following form

$$(11) \quad a_{n+1} \leq a_n^4 a_{n-1}^{-3}.$$

Istratesku hoped that for such sequences $(a_n^{1/n})$ are convergent which will mean that T_1 is of the class (c) and so (c) will be larger than the class (N) .

Unfortunately we saw that there exist sequences which satisfy inequality (11) and diverge. Note that $a_0 = 1$ and

$$a_1^{-1} = \|T_1 x\| = \|TSx\| \leq \|T\| \|S\| \|x\|.$$

Since we may suppose that $\|T\| \leq 1$ and $\|S\| \leq 1$ we have $a_1 \geq 1$.

LEMMA 2. Let operator T be of class (N, l, k) . Then

$$\|T^{n+1} x\| \cdot \|T^{n-l+1} x\|^{k-1} \geq \|T^{n-l+2} x\|^k,$$

for every $x \in X$.

PROOF. The proof is similar to the previous proof concerning T_1 .

If we set $a_n = 1/\|T^n x\|$ in (11) we obtain

$$a_{n+1} \leq a_{n-l+2}^k a_{n-l+1}^{1-k}$$

In particular for $l = 2$ we obtain the inequality (2) where $\gamma = k$.

THEOREM 5. Let T be operator of class $(N, 2, k)$, such that $\|Tx\| \geq 1$ for all $x \in X$, $\|x\| = 1$. Then T is of class (c) .

PROOF. By lemma 2 we have

$$\left(\frac{a_{n-1}}{a_n} \right)^{k-1} \leq \frac{a_n}{a_{n+1}},$$

where $a_n = 1/\|T^n x\|$. From conditions of the theorem we have $a_0 = 1$ and $a_1 \leq 1$, for all $x \in H$, $\|x\| = 1$. Thus we have

$$\frac{a_n}{a_{n+1}} \geq \frac{a_{n-1}}{a_n} \geq 1.$$

Therefore

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n}$$

exists and is finite.

By a well known theorem

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \lim_{n \rightarrow \infty} a_n^{1/n}, \quad n \in N,$$

and the result follows.

REFERENCES

- [1] J. Bibby, Axiomatisations of the average and a further generalisation of monotonic sequences, *Glasgow Math. J.* 15(1974), 63-65.
- [2] D. Borwein, Convergence criteria for bounded sequences, *Proc. Edinburgh Math. Soc.* 18(2)(1972), 99-103.
- [3] E. Camouzis, E.A. Grove, G. Ladas, V.L. Kocic, Monotone unstable solutions of difference equations and conditions for boundedness, *J. Differ. Equations Appl.* 1(2)(1995), 17-44.
- [4] E.T. Copson, On a generalisation of monotonic sequences, *Proc. Edinburgh Math. Soc.* 17(2)(1970), 159-164.
- [5] J.D. Kečkić, A remark on a generalization of monotonic sequences, *Publ. Inst. Math. (Beograd)* 16(30)(1973), 85-89.
- [6] V. Istratescu, On some classes of operators I, *Math. Balkan.* 2(1972), 49-57.
- [7] D.C. Russell, On bounded sequences satisfying a linear inequality, *Proc. Edinburgh Math. Soc.* 19(1973), 11-16.
- [8] S. Stević, A note on bounded sequences satisfying linear inequality, *Indian J. Math.* 43(2)(2001), 223-230.

- [9] S. Stević, A generalization of the Copson's theorem concerning sequences which satisfy a linear inequality, *Indian J. Math.* 43(3)(2001), 277-282.
- [10] S. Stević, On the recursive sequence $x_{n+1} = -\frac{1}{x_n} + \frac{A}{x_{n-1}}$, *Int. J. Math. Sci.* 27(1)(2001), 1-6.
- [11] S. Stević, A global convergence results with applications to periodic solutions, *Indian J. Pure Appl. Math.* 33(1)(2002), 45-53.
- [12] S. Stević, Asymptotic behaviour of a sequence defined by iteration with applications, *Colloq. Math.* 93(2)(2002), 267-276.
- [13] S. Stević, A global convergence result, *Indian J. Math.* (to appear).

(Matematički Fakultet, Studentski Trg 16, 11000 Beograd, Serba, Yugoslavia; (e-mail: sstevic@ppt.yu; sstevo@matf.bg.ac.yu))

Received on 09.02.2001 and, in revised form, on 12.02.2003.

